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Use the null factor law to solve these equations
Instructions: Separate values of x by comma ( , ) in your answers

(x 8)(x 4) = 0 x =1 x
9

(x 9
10

) = 0 x =2

x(x 9) = 0 x =3 (x 4)(x 7) = 0 x =4

x
1

(x 1
5

) = 0 x =5 (x 5
6

)(x 5
6

) = 0 x =6

(x 7)(x 10) = 0 x =7 4x
7

(x 7) = 0 x =8

x
8

(x 8
10

) = 0 x =9 (x 3)(x 5) = 0 x =10

x
10

(x 4
10

) = 0 x =11 (x 9)(x 8) = 0 x =12

x(x 7) = 0 x =13 x(x 9) = 0 x =14

(x 8
9

)(x 8
9

) = 0 x =15 (x 4
8

)(x 4
8

) = 0 x =16

6x(x 1) = 0 x =17 (x 2
10

)(x 2
10

) = 0 x =18

1x
6

(x 7) = 0 x =19 x(x 2) = 0 x =20

3x(x 8
10

) = 0 x =21 (x 4)(x 1) = 0 x =22

x
2

(x 2
6

) = 0 x =23 x(x 8) = 0 x =24

3x(x 5) = 0 x =25 (x 3)(x 5) = 0 x =26
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Use the null factor law to solve these equations
Instructions: Separate values of x by comma ( , ) in your answers

(x 8)(x 4) = 0 x = -8,41 x
9

(x 9
10

) = 0 x = -9/10,02

x(x 9) = 0 x = -9,03 (x 4)(x 7) = 0 x = -4,74

x
1

(x 1
5

) = 0 x = -1/5,05 (x 5
6

)(x 5
6

) = 0 x = -5/6,5/66

(x 7)(x 10) = 0 x = -7,107 4x
7

(x 7) = 0 x = -7,08

x
8

(x 8
10

) = 0 x = -4/5,09 (x 3)(x 5) = 0 x = -3,510

x
10

(x 4
10

) = 0 x = -2/5,011 (x 9)(x 8) = 0 x = -9,812

x(x 7) = 0 x = 0,713 x(x 9) = 0 x = 0,914

(x 8
9

)(x 8
9

) = 0 x = -8/9,8/915 (x 4
8

)(x 4
8

) = 0 x = -1/2,1/216

6x(x 1) = 0 x = -1,017 (x 2
10

)(x 2
10

) = 0 x = -1/5,1/518

1x
6

(x 7) = 0 x = -7,019 x(x 2) = 0 x = -2,020

3x(x 8
10

) = 0 x = 0,4/521 (x 4)(x 1) = 0 x = -4,122

x
2

(x 2
6

) = 0 x = -1/3,023 x(x 8) = 0 x = -8,024

3x(x 5) = 0 x = -5,025 (x 3)(x 5) = 0 x = -5,326
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Use the null factor law to solve these equations
Instructions: Separate values of x by comma ( , ) in your answers

x
3

(x 3
3

) = 0 x =1 x
9

(x 1
9

) = 0 x =2

(x 7)(x 4) = 0 x =3 8x(x 4) = 0 x =4

5x(x 5) = 0 x =5 (x 4
8

)(x 4
8

) = 0 x =6

(x 5)(x 2) = 0 x =7 3x
5

(x 5) = 0 x =8

7x
10

(x 4) = 0 x =9 2x(x 6) = 0 x =10

(x 9)(x 8) = 0 x =11 (x 2)(x 4) = 0 x =12

4x(x 1
4

) = 0 x =13 6x(x 1
7

) = 0 x =14

(x 3
5

)(x 3
5

) = 0 x =15 (x 8
10

)(x 8
10

) = 0 x =16

x(x 10) = 0 x =17 (x 4)(x 7) = 0 x =18

x
6

(x 5
6

) = 0 x =19 x(x 8) = 0 x =20

x(x 5) = 0 x =21 9x
9

(x 8) = 0 x =22

9x(x 2
5

) = 0 x =23 5x
9

(x 10) = 0 x =24

(x 2)(x 10) = 0 x =25 x
4

(x 4
6

) = 0 x =26
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Use the null factor law to solve these equations
Instructions: Separate values of x by comma ( , ) in your answers

x
3

(x 3
3

) = 0 x = -1,01 x
9

(x 1
9

) = 0 x = -1/9,02

(x 7)(x 4) = 0 x = -4,73 8x(x 4) = 0 x = -4,04

5x(x 5) = 0 x = -5,05 (x 4
8

)(x 4
8

) = 0 x = -1/2,1/26

(x 5)(x 2) = 0 x = -2,57 3x
5

(x 5) = 0 x = -5,08

7x
10

(x 4) = 0 x = -4,09 2x(x 6) = 0 x = -6,010

(x 9)(x 8) = 0 x = -9,811 (x 2)(x 4) = 0 x = -2,412

4x(x 1
4

) = 0 x = 0,1/413 6x(x 1
7

) = 0 x = 0,1/714

(x 3
5

)(x 3
5

) = 0 x = -3/5,3/515 (x 8
10

)(x 8
10

) = 0 x = -4/5,4/516

x(x 10) = 0 x = 0,1017 (x 4)(x 7) = 0 x = -4,718

x
6

(x 5
6

) = 0 x = -5/6,019 x(x 8) = 0 x = 0,820

x(x 5) = 0 x = -5,021 9x
9

(x 8) = 0 x = -8,022

9x(x 2
5

) = 0 x = 0,2/523 5x
9

(x 10) = 0 x = -10,024

(x 2)(x 10) = 0 x = -2,1025 x
4

(x 4
6

) = 0 x = -2/3,026

©www.fordandlord.com 4




